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31. (c) Given expression  
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    The number of non-zero terms is 5. 
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  From above it is clear that, 
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  But according to the condition, 
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  Since the powers of a and b are the same, therefore 
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  Only (c) is satisfying equation (iv) and (v). 

39. (a) In the expansion of 
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  Here, the exponent of x  is 24310  rr  
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  So the term independent of x  
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44. (a) In the expansion of 
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  For the term independent of x, 18 – 3r = 0  r = 6 
  This gives the independent term 
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45. (c) ,30)1()6(1  rrr  therefore fourth term will be independent of x i.e.  
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